B OE M (525



N A E _;. Vavirg
iﬁ B n+
-1
%4 ® AR ~T: &t = B BAT
KEEEM(¢50) 5275 KR
AGERLK ARV FV 30 (EE) + 1 () EEIXK LY 31
Bz s ¢ 50 X 5.0m/A< A
JKIERS K AR oL 1 (E n 1
VAV ¢ 50X 5.0m/ AR ZN
2 ] 2
EF 4y ¢ 50 1
HEVE 1 " 1
PESE [ £ 7 by — )77 $ 50 (]
1 ] 1
) F 5 (MSN-2K) 1
1 ] 1
AT T2 )G ¢ 460 1
2 [ 2
EF —/LK é 50 (]
154.570 - 0.46 X 0 @pT 0.70 X 0 AT = 154.570 m 154.60
TIHE S —] M1=150mm m
154.60 <+  50.00 3.10




i

(



N A =N _;. Vavirg i
iﬁ B n+ =
-1
4 B TR~ &t -1 E=V B E BifL
BHiER T (¢ 50) 522l 154.57 154.57
(AlEREA) L= 154570 - ( 0.665 x 0 ) = 154.570 m BEIX LD 154.60
YL AT 50 PESFL O A EGA =
10 (FhEHEE) 31 BEIXELD 31
RYTF L AEH,RE T ¢ 50 5|
21 (A& HA) 4 U 4
) ¢ 50 M
4 [ 4
AY=F LI T ¢ 50 H
1 1
fEO R ESE T HEJEH & T
154.60 + 0.00 )= 1000 0.15
1w KR T ¢ 50 H
154.60 154.60
TINH L — R M=150mm m




4;51 Y 7t H =
Ul ESE TOHEESR 1 PT4Y
+ 49 h=0.90m (MSN-2K)
fFEE HEEE
N ]
- i =
‘ é% E : IS (MSN-2K)
% i THRADER
H i
EiESE
: @R (D59ivy—511
1 1} 'S .y_'_ HMEE (VWd250 = 150 )
g i :\ FHaLHY—F
PES L O FHyThmME G5 g = (e
e R HEiEH (V5vir—51)
300 |
300 400
500
4 FR Iz At B 7\ o & HAL
IR EEE THER ) NG
D79 =T 0.30 X 0.50 0.15
Z B E s T t=15cm m2
{C 030 + 040 )x 1 / X 0.20 + 0.20 X
=B TP /N
0.20 }x 2 - 0063* X o / 4 X 1 /
D ) 0.22
m2
(030 + 040 )x 1 / 2 X 020 X 02 -
ZHars)—h 21.0-40-8
0.063° X = / 4 X /2 X 02 0.01
m3
Ve 2% e 0.56 X 0.56 - 027 * X gz / 4 0.26
FLAE R T t=15cm m2
0.15 0.15
WA =V VP ¢ 250m/m m




B 1+ L (525K



& B B &

AR ~T: &t -1 = B BAfT
525 B R
A BLE D 142.27 R RATTIEE) 142.27

HPPE ¢ 50 +#%V 0.90m m
A BLE D 13.80 R RATIEE) 13.80

HPPE ¢ 50 +#%9 0.90m




i = 7 B &
RIS+ T 10m24 Y AWML
(T A7 7 VM)
1. 150 l3]
300 550
‘ (iBAIE) ‘
23 + 13mm FA3 « 20mm
t—E 531
RS EESE) _E[
FRES (3 s
il HEL (AW %
=1 Tt b
FHE
s
—
"%’ B
4 FR BMoB 7t B E2V & HAL
HPPE
¢ 50mm 18 T 10m4v
T AT 100 X 2 20.00
e t=15cmL F m
LRl 15 UE HEH 8t 0.023 X 0.05 X 20.00 0.02
VB K VER [.=11.7km m3
0.02 X 1.00
i % 151e 0.02 kv
0.02 X 1.00
BEFEW) 5% N B 1B 0.00 k>
T AT 0.55 X 10.0 5.50
2 RS A T t=10cmPL T m2
N T 5.50 X 0.05 0.28
T AT 7 VR AL ER [.=11.9km m3
0.28 X 2.30
i s T A7 7 IV Nk 0.64 kv
0.28 X 2.30
BEFEW) % N B T AT 7L N 0.64 kv
0.55 x( 1.063 - 0.05 )~ 0.063 ° X = /
K Ny Z7RY0.20m3
4 Hx 10.0 5.54
m3
( 055 X 0.463 - 0.063° X =7 / 4 )x
ML PR
10.0 2.52
m3
0.55 X 0.25 X 10.0 1.38
ML i Vas m3
5,54 - ( 1.38 = 0.9 ) 4.01
7% e 4% 7 1.=2.0km m3
Al 0.55 X 10.0 5.50
) t=15cm m2
I79%—T 0.55 X 10.0 5.50
INEL: S t=15cm m2
AR ET A2y 0.55 X 10.0 5.50
IR t=3cm m2




i g B G
SHIE + T 10m4"
(Z2 7 —Ni)
SRELT
(avhy-+E6)
W (8 1B§EER)
200 550 200
‘ (g
(329 )= - 4.5-2 5-40) % Faay - 2
t=15¢m I ; t=3cm gl
! =
8 BE (957452 =
- g
8 BEL (KAL) =z
g Tt b
. 2 SR
= -
e a—
F=— | %ﬁ'i&&'
A
(HPFEJED“- )
4 FR BMo# 7 B E2V & HAL
HPPE
¢ 50mm 5HIE 1T 10m4v
a7 —h 100 X 2 20.00
SR G0 T T t=15cmPL T m
a7 —h 0.55 X 10.0 5.50
EEE R T t=15cmPA T m2
Rz b 3E M2 T 5.50 X 0.15 0.83
a7 — N AL ER [=11.7km m3
0.83 X 2.30 t/m3
i % a7 —hik 1.91 kv
0.55 x( 1.063 - 0.15 )~ 0.063 ° X = /
K Ny Z7RY0.20m3
4 )% 10.0 4.99
m3
0.55 X 0.463 - 0.063 % X gz / 4 )x
HERL PR
10.0 2.52
m3
0.55 X 0.30 X 10.0 1.65
HERL i i B m3
499 -( 1.65 = 09 ) 3.16
03 v Ui 447 1.=2.0km m3
I79%—T 0.55 X 10.0 5.50
s t=15cm m2
HAEHRLET Aay 0.55 X 10.0 5.50
IR t=3cm m2
5,50 X 0.0 X 2.30 0.38
i s AR EET Ay o4




T (525 H4H%)
T - |=



M =. = Yoxing
B 2 i
4 R AR~ 1A &t " =¥ ¥ E BAAL
EEREEIR L 5275 B AR
287.20 BT IR P X 2 R 287.20
El LR T T A t=15cmPL T m
15 IRk 8t 0.023 X 0.05 X 287.20 0.33
5 PR ) T ¥ /K AL L=11.7km m3
0.33 X 1.00 t/m3 0.33
i bk 151E [
0.33 X 1.00 t/m3 0.33
K% N\ 151E [
163.70 L w2 163.70
T A7 7 v NE R R T 7 Az t=10cmPA T m2
163.70 x 0.056 - 1.72 6.47
T AT 7V N AL B 4477 1=11.9km LA m3
6.47 X 2.30 t/m3 14.88
i bk T AT 7 )V Nk [
6.47 X 2.30 t/m3 14.88
BEZEY) = N T AT 7 )V Nk 4
28.60 ERLEAE 10 E X 2 PR 28.60
ERAE ARG T a7 —b t=15cmPL T m
13.20 ISR 13.20
7Y — M SR AR T 27U —hk t=15cmPA T m2
13.20 x 0.07 0.92
oY) — hERALER 447 1=11.7km m3
0.92 X 2.30 t/m3 2.12
i bk LY — ik [
FAEERLT 272 t=5cm 176.90 LSRR ETTRE g 176.90
* & HE (BEE 1) m2
2.35 X 0.056 X 176.90 20.79
7 AT 7\ N i [
142.27 + 13.80 156.07
ELTIERE m
0.55 X 156.07 X ( 0.05 - 0.03 ) 1.72
T A7 7 v NERHE R R T (R 53) B+ TIER m3




2

i i E W W K T (25



P4

i

‘EL&
3

T

4 R TR ~TE E " F=V ¥ E BAAL
BERR L T 527 AR

158.00 L FmE & 158.00

B e o VERE HIVP ¢ 50 m
(6.0m/ 4 AT EIIET) 158.00 =~ 6.0 m/»fT = 26.3 = 26 26

R L =V B T ¢ 50 H
158.00 X 1.160 Kg/m = 1,000 0.18

g ik HIVP__ ¢ 50 ko
L=11.2Km 158.00 X 1.160 Kg/m = 1,000 0.18

fie b e HIVP ¢ 50 [
158.00 X 1.160 Kg/m 183.28

BEFEW SN HIVP ¢ 50 Kg
(B X HEEE) 1 1

Ah RS AR v — ¢ 50 H




{3

&R % T (528584



R T

& B B &

4 R TEAR~TE &t =1 E=V B E BifL
EEM (BKE) HE 5275 AR
I (8 142.50 A& 142.50
R TTF L E ¢ 50 LY m
142.50 = 40.00 + 1.00 5
RYTF LR ok ¢ 50 fi
e AL (R a5 BT
524 (GEREBIA
I (8 2.50 ] 2.50
RVZF L E ¢ 50 m
0 I 0
PPF— R ¢ 50X ¢ 50 1#
2 I 2
PP /LR ¢ 50 &
1 1
1Rk A% N7 eayy ¢ 50 1
2 2
kK ok ¢ 50 i
R E B 5275 AR
IESREE () 142.50  + 2.50 A 145.00
RYTF L ¢ 50 S m
5 5
ﬂ =]
KT Lo e bl 650 P B "
0 0
ﬂ =]
PPF—X $» 50X ¢ 50 A\ i 1
2 2
ﬂ =]
PP /LR ¢ 50 B i 1
1 1
. N ﬂ =]
1k N7 eaysE ¢ 50 B 1
2 2
H =
1k kA A b ¢ 50 WEA B8 {i




O

A T 9
4 R TEAR~T Bl 2V ¥ B XA
R AT R 527 R
VR () 142.50  + 2.50 145.00
RVZF L E $ 50 m
5 x 2 H 9
RYTF U B e b ¢ 50 .
0 x 3 H 0
PPF—X ¢ 50X ¢ 50 .
2 x 2 M 4
PP LR ® 50 .
1 x 2 H 2
IE AR - 1k KA b N7 39y ¢ 50 H
% LA - T ¢ 50
F il HE 24.10 RSN 24.10
HEEER(L) T AT 7L N .
Fi i HE D 2.50 " 2.50
PR (2) a7 — Mk m
VRERRE (8 8) 145.00 (AL 145.00
R F L ERE ¢ 50 FHE[EEY m
VB (ZJEE) 145.00 X 1.255 Kg/m = 1,000 0.18
g ik ¢ 50 by
VR () 145.00 X 1.255 Kg/m = 1,000 0.18
2 b 1.=11.2Km ko
VR () 145.00 X 1.255 Kg/m 18193
SN ¢ 50 Kg




YA = Yo
% i L e
HEREE (D) 10m34"
(727 7V )
2R (1)
60 TA77 W M) B
m/ t=bcm
3! =E [
,%, ks _%,
TEHRAE
& B Mok it A =Y & HAL
HRERER (1) 10m%49
TR 10.0 X 2 20.00
ShZERR Y T t=15cmL T m
EAE RO B 15 EK HEELSt 0.023 X 0.05 X 10.00 X 2 0.02
V) 7K AL ER L=11.7km m3
0.02 X 1.00
et IpeS 1518 0.02 kv
0.02 X 1.00
Y= N & 1518 0.02 kv
TR 0.06 X 10.0 0.60
(R SE R AR A T t=10cmLL T m2
ME T 0.06 X 0.05 X 10.0 0.03
T AT 7 VN ALER [=11.9km m3
0.03 X 2.30
L peN T AT 7 VR 0.07 kv
0.03 X 2.30
BIEM=Z A& T AT 7L 0.07 kv
AR T 2y 0.06 X 10.00 0.60
AHLEIE A t=bcm m2




Mz =, = Fhn
£ i 2t L +
HIZRER (2) 10m4Y
(7 —hED)
HEZER (2)
60 aVHY -] B
~— t=6cm
s ¥a
= &E f)
o Bk S
TIEREE
& B Mok it A =Y & HAL
HRERER (2) 10m%49
a7 —k 10.0 X 2 20.00
ShZERR Y T t=15cmL T m
a7 —h 0.06 X 10.0 0.60
(L R AR A T t=10cmLL T m2
N T 0.06 X 0.07 X 10.0 0.04
D) — ML ER [=11.7km m3
0.04 X 2.30
et IpeS o) —hik 0.09 kv
AR T 2y 0.06 X 10.00 0.60
LRI t=Tcm m2






